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253 x10 = 1.141 x 10000 =
10.641 x 1000 = 6.901 x 100 =

8.841 x 100 = 9.667 x 1000 =
2.571 x 1000000 = 2.572 x 100000 =
5.414 x 10000 = 5.858 x 10 =

7.808 x 100 = 5.456 x 100000 =
10.57 x 10 = 4.043 x 1000 =
10.205 x 1000 = 6.99 x 10 =

2.876 x 1000 = 10.716 x 1000000 =
6.302 x 10 = 4.309 x 100 =

www.snowmath.com


https://www.snowmath.com

250 102 AsHas &

3

ot

253 x10=253

10.641 x 1000 = 10641

8.841 x 100 = 884.1

2.571 x 1000000 = 2571000

5.414 x 10000 = 54140

7.808 x 100 = 780.8

10.57 x 10 = 105.7

10.205 x 1000 = 10205

2.876 x 1000 = 2876

6.302 x 10 = 63.02

=LA

1.141 x 10000 = 11410

6.901 x 100 = 690.1

9.667 x 1000 = 9667

2.572 x 100000 = 257200

5.858 x 10 = 58.58

5.456 x 100000 = 545600

4.043 x 1000 = 4043

6.99 x 10 = 69.9

10.716 x 1000000 = 10716000

4.309 x 100 = 430.9
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